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1. Find f'(x).
2
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2.Find f'(x).
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6. Fi df(x) ing the limiting definition
flx)=x2—x—-3
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8. Find y' implicitly in terms of x and y.
cosy +tanx = siny

~siny -4/ + seCX = G -\j’

Sec®x = Y ‘“j’s‘.’lj)
sec
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9. Find the equation of the tangent line to the graph of f (x) = —F+1 at the point (1, —5).
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ace area of a sphere is A = 4mr?

a. Find the instantan surf
exact, simplified answer in terms of r.
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BonusA: Determine the point(s) (if any) at which the graph of the function hasa horizontaltangentline

j'=i3x‘—bx ( j
3x(x-z) =O (O-’%,\(z)b
X=0O x=2Z

d first two derivatives agree with the value and

Bonus B: Find the polynomial P, (x) = a, + a;x + a,x? whose value an
first two derivatives off(x) = sinx at the point x = 0. This polynomial is called the d-degree Taylor
of f ( ) =

Pﬁo a.m.xfa,x Fx)= sinx
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